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English

. Answer: A)

The author's comparison of sweatshirts to
hunger in one's own kitchen suggests a
metaphorical interpretation related to the
existential longing for fulfillment in
material possessions. Just as hunger in one's
own kitchen implies a desire for something
readily available and satisfying, the desire
for other people's sweatshirts represents a
longing for something tangible and
seemingly fulfilling. This interpretation
aligns with the broader theme of the
passage, which delves into the complexities
of desire and the pursuit of happiness
through material means. The comparison
implies that the desire for material
possessions, like sweatshirts, often reflects
deeper existential longings for comfort,
security, and  contentment, which
individuals may seek to fulfill through
external means.

. Answer: C)

The main function of the sentence "The
potential eggs you on: Some sweatshirts
really are better than others" is to reinforce
the author's perspective. By stating that
"some sweatshirts really are better than
others," the author emphasizes the validity

of the desire for specific sweatshirts and
acknowledges that there are indeed

reinforcing the idea that certain sweatshirts
are superior to others, the author
strengthens their argument about the
significance of sweatshirt envy and the
pursuit of the perfect one. Therefore, option

c) is the correct answer as it accurately
captures the function of the sentence within
the context of the passage.

. Answer: A)

In this statement, the author is expressing
the irony of the situation where despite the
abundance and accessibility of sweatshirts,
people still find it difficult to satisfy their
desire for the perfect one. The phrase
"relative scratchability of this itch" implies
that the desire for the perfect sweatshirt
should theoretically be easy to fulfill, given
the wide availability of sweatshirts and the
simplicity of the garment itself. However,
the author suggests that even though there
are plenty of sweatshirts to choose from,
people still struggle to find one that
completely satisfies their desires. This
highlights the discrepancy between the
perceived simplicity of the problem
(finding a sweatshirt) and the difficulty in
finding a solution, emphasizing the
triviality or "silliness" of the situation.
Therefore, option a) is the correct answer as
it captures the author's implication
regarding the availability of sweatshirts and
the difficulty in satisfying the desire for the
perfect one.

. Answer: C)

The author employs irony in discussing the
desire for other people's sweatshirts by
portraying the sweatshirt, a simple garment,
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elevating the significance of the sweatshirt
beyond its physical attributes, the author
highlights the irony in coveting such a
commonplace item as a means of fulfilling
deeper emotional or psychological needs.
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This irony underscores the complexity of
human desires and challenges conventional
notions of what constitutes true fulfillment
or satisfaction.

. Answer: D)

The author uses the sweatshirt as a symbol
to critique American culture by challenging
the notion of material possessions as
markers of success. Throughout the
passage, the author discusses the desire for
other  people's sweatshirts as a
manifestation of deeper existential
longings, rather than a reflection of genuine
fulfillment or contentment. By doing so, the
author implies that the pursuit of material
possessions, such as the perfect sweatshirt,
may not lead to true happiness or
satisfaction. This critique challenges the
prevalent societal belief that material
wealth and possessions equate to success or
fulfillment, thereby offering a broader
commentary on American consumer
culture and its values.

. Answer: D)

The author primarily employs anecdotal
evidence to engage readers with the topic of
sweatshirt envy. Throughout the passage,
the author shares personal observations and
experiences related to sweatshirt envy, such
as the comparison to David Lynch's
perspective on clothing and the mention of
Crystal and Alicia's lack of desire for other

emotional appeal, and ethical appeal may
also be present in the passage, anecdotal
evidence is the primary rhetorical strategy
used to draw readers into the topic of
sweatshirt envy.

7. Answer: B)

In the passage, the term "frame of the
conversation” refers to the mental context
or focus of the ongoing discussion. It
pertains to the perspective or mindset
within which the interaction is taking place,
influencing the participants' understanding
and interpretation of the dialogue. This
interpretation is supported by the speaker's
consideration of the woman's possible
intentions and motivations based on her
behavior and responses.

8. Answer: B)

In the passage, the speaker's statement "The
pause is my queue" suggests that the pause
in the conversation serves as a signal or cue
for the speaker to continue speaking. The
speaker recognizes the pause as an
indication that it is now his turn to
contribute to the dialogue, prompting him
to advance the conversation further. This
interpretation aligns with the speaker's
awareness of conversational dynamics and
his readiness to participate in the exchange
of dialogue.

9. Answer: D)

@ | MATERIAL BHAIYA

readers' emotions and experiences, making
it an effective rhetorical strategy for
engaging them in the discussion of complex
and abstract concepts like desire and
fulfillment. While logical reasoning,

exhibits introspective qualities, reflecting
on his own thoughts and reactions during
the conversation. Additionally, the narrator
shows methodological tendencies by
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principles of  cooperative

applying
discourse to interpret the interaction.

However, the term "vexxed" does not align
with the observed behavior of the narrator
in the passage. There is no indication that
the narrator is particularly agitated or
annoyed; instead, he appears to approach
the conversation with a rational and
analytical mindset. Therefore, "vexxed" is
not a characteristic of the narrator as

portrayed in the passage.

10. Answer: C)

The passage primarily delves into the inner
thoughts and perceptions of the narrator,
indicating  an  inftrospective  style.
Additionally, the structure of the passage is
fragmented, as it presents disjointed
thoughts and observations rather than
following a linear or chronological
sequence of events. This fragmentation
mirrors  the  speaker's stream  of
consciousness and enhances the
introspective nature of the writing.
Therefore, option ¢ is the most fitting
description of the writing style and

structure of the passage.

11.Answer: C)

The speaker expresses disdain for
"coordinate openings" because they falsely
imply that the conversation is continuing in
a cooperative manner, when in reality, the

speaker finds them to be insincere and

norms and linguistic conventions. The
passage highlights the pressure individuals
may feel to conform to conventional scripts
in social interactions, which can often lack
genuine meaning or depth. This broader
theme is reflected in option b.

13.Answer: C)

In the context of the passage, "intermittent"
is used to describe the academic and artistic
output produced by the author during their
Integrated Master's program. The term
suggests that the output was not continuous
or consistent but rather occurred
occasionally and irregularly. This aligns
with the author's reflection on the sparse
nature of their academic and artistic output
during the long five years of the program.
Therefore, option ¢) best defines the term
"intermittent" as used in the passage.

14.Answer: D)

The author's reference to "a vicious cut
between theory, philosophy, texts, life
skills and ways of living" implies a
disruption or severance in the continuity
and coherence of the educational
experience. This phrase suggests that the
reduction of the Integrated Masters
program results in a fragmentation of
knowledge and learning experiences.
Instead of a holistic integration of various
academic disciplines and life skills, there is
now a disjointed and disconnected

E DA IR AL S A A

12.Answer: B)

appropriate interpretation of the author's

The speaker's deliberation on the reference.
significance of asking a simple question
like "hello" suggests a critique of the 15.Answer: A)

superficiality inherent in adhering to social

clatnlti.com ©National Law Training Institute



NLTI CLAT Mock 15
Answer Key and Explanations

The author's disappointment regarding the
reduction of the Integrated Masters
program suggests a broader critique of the
commodification of education. By
expressing unhappiness over the change
and emphasizing the value of a
comprehensive humanities education, the
author implicitly critiques the tendency to
prioritize economic utility and vocational
training over the pursuit of knowledge and
intellectual development. This critique
aligns  with
commercialization of education, where

concerns about  the

educational institutions may  prioritize
profitability and market demands over
academic excellence and intellectual
inquiry. Therefore, option (a) is the most
appropriate inference from the passage.

implications. It only serves as an anecdotal
marker.

Option a) is incorrect because the sentence
does not provide evidence of the author's
perseverance or any specific challenges
faced during the course.

Option b) is incorrect because the idea of
needing a longer and more holistic
humanities course is reinforced by
subsequent sentences in the passage, rather
than by the quoted sentence.

Option c) is incorrect because there is no
indication in the sentence that the author is
expressing impatience with the educational
system. The sentence solely refers to the
duration of the course without any
emotional or critical context.

18.Answer: C)
16.Answer: B)
The passage predominantly conveys a tone

of disappointment and criticism. The author ~ 19. Answer: B)

expresses unhappiness and heartbreak over
the reduction of the Integrated Masters
program at IIT Madras from five years to
two. They reflect on the value of the
humanities education offered by the
program and express regret over its
discontinuation, suggesting a critical
perspective on the decision and the state of
humanities education in the country. The
tone is disheartened as the author laments

the loss of opportunities and the
diminishing value of comprehensive
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Horace Greeley's statement about the
unfavorable conditions in Washington, DC,
during the 1800s. Then, the speaker
presents a contrasting viewpoint by stating,
"While some would argue that the first two
sentences still apply.” This statement
implies that despite the passage of time,
certain individuals believe that the negative
conditions described by Greeley are still
relevant or applicable today.

The use of irony in this sentence is evident
because it conveys a subtle contradiction or

significantly to the overarching argument
presented in the passage. It simply mentions
the duration of the course without
elaborating on any challenges or

to what one might logically assume.
Therefore, the statement employs irony to
highlight the discrepancy between past and
present perceptions of Washington, DC's
conditions.
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20.Answer: D)

21.

Distributive justice is a philosophical
concept concerned with the fair allocation
of resources in society. It posits that goods

should be distributed

equitably among members of society,

and resources

taking into account factors such as need,
merit, and equality. In the context of the
passage, the author argues against profiting
from land ownership by highlighting the
moral dilemma inherent in gatekeeping a
resource as fundamental as land. The author
suggests that land ownership allows some
individuals to profit from controlling access
to a resource that should be shared by all
members of society. This aligns with the
principle of distributive justice, which
emphasizes the fair distribution of
resources to ensure social and economic
equality.

While other philosophical concepts like
utilitarianism, social contract theory, and
virtue ethics may touch upon aspects of the
author's argument, distributive justice best
encapsulates the underlying moral concern
regarding the equitable distribution of land
and its implications for society.

Answer: A)
The author's reference to Mark Twain's

purported quote, "they're not making any
more of it," serves to highlight the transient
nature of land ownership. This quote

% |

limited and irreplaceable resource,
contrasting with the notion of perpetual
land ownership often assumed in property
rights. This the broader

argument in the passage that the concept of

aligns with

land ownership is fundamentally flawed
due to its implications for inequality and
exploitation, particularly in the context of
finite resources. Therefore, option a) best
captures the purpose of the reference to
Mark Twain's quote.

22. Answer: D)

The author's main argument against the
concept of land ownership as a natural right
is rooted in the idea that the right to physical
space is derived from the more fundamental
right to live. The passage explains that
living requires physical space for the body
to occupy, and therefore, the right to life is
contingent upon the ability to acquire the
basic prerequisite of physical space. The
author suggests that the right to space is a
derivative of the right to live, emphasizing
the fundamental importance of physical
occupancy for human existence.

Option a) is incorrect because while the
scarcity of habitable land is mentioned in
the passage, it is not the author's primary
argument against the concept of land
ownership.

Option b) is incorrect because while the
author discusses how land monopolization
perpetuates inequality and exploitation, it is
not the main argument against the concept
of land ownership as a natural right.
Option c¢) is incorrect because while the
passage acknowledges the unjust historical

MATERIAL BHAIYA

23.Answer: C)

The passage argues that the concept of land
ownership perpetuates an unjust system in
which individuals profit from gatekeeping a
finite resource. The author contends that
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everyone is born with an existential debt, as
they inhabit spaces that belong to others,
and land ownership allows some
individuals to profit by controlling access to
this essential resource. By describing land
ownership as immoral rent-seeking
behavior, the passage suggests that it
perpetuates inequality and exploitation
rather than upholding a natural right.

Option a) is incorrect because the passage
challenges the notion of land ownership as
a natural right and instead critiques its
ethical implications.

Option b) is incorrect because the passage
does not suggest that profiting from land
ownership is morally justifiable due to
historical precedents. Instead, it critiques
the historical origins of land acquisition and
emphasizes its unjust nature.

Option d) is incorrect because while the
passage discusses the scarcity of land, it
does not argue for stringent regulations on
property ownership as the primary solution
to address this issue.

24. Answer: C)

The author discusses Horace Greeley's
famous statement "Go West, young man, go
West" to illustrate the historic belief in the
availability of unclaimed land  for
settlement during the 19th century. This
statement  encapsulates the popular
sentiment of the time, which encouraged

Option a) is incorrect because the author
does not primarily aim to highlight Western
expansionism, but rather the belief in the
availability of unclaimed land.

Option b) is incorrect because while the
discussion of Greeley's statement indirectly
touches on the moral implications of land
acquisition, it is not the primary purpose of
mentioning the quote.

Option d) is incorrect because the author
does not directly critique the unethical
practices of land acquisition promoted by
Greeley, but rather uses his statement to
illustrate a broader historical belief.

General Knowledge
25. (¢)
26. (b)
27. (d)
28. (¢)
29. (a)
30. (b)
31. (c)
32. (d)
33. (a)
34. (¢)
35.(d)
36. (¢)
37.(a)
38. (b)
39.(a)
40. (b)
41. (c)
42. (a)
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expansion, contributing to the myth of the
American frontier and the belief in endless
territorial expansion.

48. (a)
49. (b)
50. (a)
31. (¢)
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52. (c)

Legal Reasoning

Q53.D

The passage establishes that for an act to be
considered a nuisance, it must be prima
facie wrongful, create actual damage, and
the interference must be unreasonable.
Emily's situation fits these criteria as
David's loud outdoor events disrupt her
peace and impact her ability to rest and
focus on tasks. The passage emphasises that
the interference causing injury to comfort
or health is actionable as a nuisance. Since
Emily has faced persistent disruptions
affecting her well-being, she has grounds
for a nuisance lawsuit against David.
Options A, B, and C are incorrect for the
following reasons:

A. Hosting events with loud speakers is not
automatically deemed a reasonable use of
property if it results in unreasonable
interference and harm to a neighbour.

B. The ongoing disturbance causing
tangible damage to Emily's health and daily
life aligns with the criteria for a nuisance,
making this option incorrect.

C. The passage does not provide any
indication that the duration of the activity
makes it permissible. Instead, it emphasises
the requirement of ongoing unreasonable
interference causing harm.

Q54. A

The passage establishes that for an act to be
considered a nuisance, there must be
unreasonable interference with a person's

A | M,

business. The passage indicates that injury
to comfort or health is actionable as a
nuisance, supporting Liam's legal action.
Options B, C, and D are incorrect for the
following reasons:

B. The right to operate a business does not
extend to unreasonably interfering with
neighbouring  establishments,  causing
harm, as emphasised in the passage.

C. Liam's legal action is justified based on
the unreasonable interference causing
discomfort and harm, not merely due to the
disturbance of an average person.

D. Legal authorization for the arcade's
location doesn't exempt it from liability if it
unreasonably interferes with neighbouring
properties, as established by the criteria for
nuisance in the passage.

Q55.C

The passage indicates that Olivia is
pursuing a nuisance lawsuit against her
neighbours due to the disruptive noise and
activity caused by the music school. The
likely remedy mentioned is an injunction,
which is a court order instructing the
neighbours to take specific actions to
alleviate the disturbance. This may include
limiting the student count, reducing noise
levels, and implementing measures to
minimise the impact on the neighbourhood.
Additionally, potential monetary damages
may be awarded to compensate Olivia for
the harm caused.

Options A, B, and D are incorrect for the
following reasons:

A. The passage mentions potential
remedies beyond monetary compensation,
such as injunctions, making this option
incomplete.

B. An abatement order, mentioned in the
passage, is similar to an injunction and is a
more likely remedy than self-regulation
without court involvement.

 MATERIAL BHAIYA

Q56. B
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The passage indicates that Jake is facing
ongoing and unreasonable interference
from the Andersons, including noisy late-
night activities, parking on his property,
and a disruptive parrot. This aligns with the
criteria for nuisance as it causes discomfort
to an average person, impacting Jake's
peace and well-being. The passage does not
mention any legal authorization or
prescription that would justify the
Andersons' actions. Therefore, Jake has
grounds to succeed in a nuisance case.
Options A, C, and D are incorrect for the
following reasons:

A. is incorrect because the passage does not
provide information suggesting  that
prescription, which typically requires
engaging in the disruptive activities for a
specified duration (e.g., 20 years), applies
to the Andersons. The passage does not
mention the duration of their disruptive
behaviour, making it unlikely that
prescription is a valid defence for the
Andersons.

C. The passage does not portray the
Andersons'  actions as  reasonable
interference, and managing animals being
challenging does not justify their
inconsiderate conduct.

D. While potential outcomes such as
damages are mentioned, the passage doesn't
explicitly state the consequences, making
this option speculative.

Q57. A

The passage highlights that the recycling
facility is causing persistent noise and
pollution, severely disrupting Raj's sleep
and impacting his family's health. This

Option D is incorrect as the right of
prescription is only in case of private
nuisance and not public nuisance.

Q58. A

The passage establishes that the doctrine of
frustration applies when the actual subject-
matter of the contract ceases to exist, such
as in the case of a party's death. Sophia's
demise renders the agreement impossible to
perform, falling under the principle of
frustration, making the contract null and
void.

Options B, C, and D are incorrect for the
following reasons:

B. The passage does not indicate any
obligation for Sophia's heir to transfer the
promised 20% of the art collection to
Emily. The doctrine of frustration, in this
context, revolves around the impossibility
of performance due to Sophia's death.

C. The passage does not mention the
dedication or commitment of Emily as
factors that would affect the application of
the doctrine of frustration in this scenario.
D. While it mentions the absence of
assistance, the primary reason for the
nullification of the contract is Sophia's
demise, not the discontinuation of
assistance by Emily.

Q59.B

The passage does not explicitly mention the
scenario deseribed, but it establishes the
general principle that an agreement to do an
act that is impossible from the very
beginning, such as the performance of the
contract after the irreparable damage to the
chosen painting, renders the contract void.

~d | MATERIAL BHAIYA

claim, making Opftion .
Option C refers to public nuisance, being
severely punished by the IPC which is not
mentioned in the passage.

ollowing reasons:
A. The passage does not mention any
established contract or payment being
made, and the impossibility arising from the
damage makes the contract void.
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C. The passage does not support the idea
that it is at David's discretion; instead, it
suggests that the void nature of the contract
is due to the impossibility of performance.
D. The passage does not attribute the
damage to David's negligence, and the
focus is on the general principle of voiding
a contract due to impossibility.

Q60. C

The passage implies that the primary reason
for the nullity of the agreement is its
inherent impossibility — the inability to
make a plant communicate. While Emily's
status as a minor is not explicitly discussed,
the emphasis is on the impossibility of the
task, rendering the agreement null and void.
Therefore, the correct option is C, focusing
on the contractual impossibility rather than
Emily's minority status.

Options A, B, and D are incorrect for the
following reasons:

A. While Emily is a minor, the passage does
not explicitly address her legal recourse due
to minority; instead, it highlights the
impossibility of the agreement.

B. The passage does not suggest a breach of
agreement; rather, it underscores the
impossibility of fulfilling the promise made
by Jason.

D. The passage does not explicitly state that
a valid contract between a father and a
daughter regarding a plant is impossible;
the primary issue is the impossibility of the
task itself.

Q61.C

The passage describes a contract between
Sarah and Mark for cooking lessons, and
Mark faces an unexpected injury during the
second week, disrupting the lessons. The
agreement's frustration due to Mark's injury
doesn't automatically void the contract.
Instead, Mark assures Sarah that he will
make up for the missed classes. The focus
is on the breach of contractual obligations
and the delay caused by Mark's injury.
Therefore, Sarah has grounds to take legal
action against Mark for his failure to fulfil
the contractual obligations in a timely
manner.

Options A, B, and D are incorrect for the
following reasons:

A. The contract is not automatically void
due to Mark's injury; the passage
emphasises Mark's responsibility to make
up for the missed classes.

B. While Sarah may be concerned about the
cooking competition, the passage does not
explicitly state that Mark's breach put her at
risk of performing poorly.

D. Mark committing to making up for
missed classes in the future does not
absolve him of accountability for the
breach; Sarah still has the right to take legal
action for the delay.

Q62.C

The passage does not provide information
about a court determining the applicability
of the law of frustration based on the
acknowledgment of the parties regarding
the primary purpose of the agreement. The
passage outlines general principles about
the voidability of agreements involving
impossible acts, the application of the rule

" | I MATERIAL BHAIYA

Options A, B, and D are incorrec
following reasons:
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A. The passage explicitly states that
whether the parties were aware of the
impossibility or not, an agreement to
perform an act that is impossible from the
start will be void.

B. The passage discusses the rule of
frustration applying not only to logical
impossibilities but also to cases where the
original intent of the parties fails.

D. The passage mentions the impossibility
of establishing a clear list of situations in
which frustration applies, supporting the
idea that a wide range of contracts are
subject to this notion.

Q63.C

The passage introduces the defence of
insanity, emphasising that it is based on the
accused being in a state of mind where they
did not know the nature and qualities of the
act or did not know that what they were
doing was wrong. In Rachel's case, her
hallucinations, driven by fear and the
influence of substance wuse, could
potentially align with the criteria for the
defence of insanity, as she genuinely
believed in the presence of a threatening
figure resembling her abusive family
member.

Options A, B, and D are incorrect for the
following reasons:

A. The defence of insanity is not explicitly
linked to substances impairing cognitive
functions; it focuses on the accused's state
of mind regarding the nature of the act.

B. The defence of insanity is not solely
about diminished mental capacity; it also
involves the accused's knowledge and
perception of the act.

The passage describes Alex's actions as
motivated by the intention to clean his child
after an accidental fall into a muddy pond.
There is no indication of malicious intent or
awareness of potential harm. The tragic
outcome appears to be an unintended
consequence of his attempt to clean the
child. Therefore, option B is correct as it
aligns with the scenario presented in the
passage.

Options A, C, and D are incorrect for the
following reasons:

A. The passage does not suggest awareness
of potential consequences; rather, it
portrays the actions as unintentional and
driven by the desire to clean the child.

C. The answer emphasises the presence of
evidence regarding an intention to harm,
however, none is mentioned in the question
making it challenging to establish liability.
D. There is no mention of potential insanity
in the passage, and the scenario is presented
as an unintended consequence of Alex's
actions. The passage does not provide
grounds for claiming insanity as a defence.

Q65.C

The passage does not provide evidence that
Professor Michelle's personal opinion or
self-awareness should determine her claim
of insanity. The emphasis is on her
engaging in unusual behaviour, leading to
concerns and the commission of a grievous
act. Option C aligns with the principle that
the court, not the individual, should
impartially assess and decide on the mental
condition in legal proceedings.

Options A, B, and D are incorrect for the
following reasons:

B. While Professor Michelle has a
successful career in psychology, the
passage does not suggest that her expertise
should automatically validate her claim of
insanity.
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D. The passage mentions the violent act but
does not explicitly state that it indicates
potential insanity; it presents the act as a
reason for seeking legal intervention.

Q66. A

The passage mentions that Vikram sought
guidance, made a decision during a live art
exhibition, and faced charges related to the
incident. There is no indication that Vikram
lacked awareness of his actions; rather, he
attributes them to Guru Ananya's influence
and his desire for artistic acclaim. Option A
aligns with the presented information,
suggesting that Vikram's actions were
driven by his beliefs and goals, and an
insanity defence is unlikely.

Options B, C, and D are incorrect for the
following reasons:

B. While Vikram adhered to Guru Ananya's
guidance, the passage does not provide
evidence of potential mental instability or
lack of awareness.

C. The passage does not explicitly mention
a need for a thorough examination of
Vikram's comprehension of his actions; it
focuses on the influence of Guru Ananya.
D. The passage suggests that Vikram had an
understanding of his actions, making the
claim of insanity less plausible.

Q67.B

Even if Guru Anirudh was later revealed to
be genuinely mentally unstable, the passage
emphasises that Vikram made a decision
during a live art exhibition, causing harm to
his fellow artist. Vikram's actions are
attributed to his desire for artistic acclaim
and the influence of Guru Anirudh. Option

C. The passage does not indicate that
Vikram committed the offence
unknowingly; it highlights his pursuit of
acclaim and the decision to harm someone.
D. Vikram's pursuit of acclaim and the
decision to harm someone while not
independent of Guru Anirudh's influence,
still showed him exercising his mental
faculties.

Q68.D

The passage outlines that copyright
protection extends to original creations
expressed in tangible form, and mere ideas
are not legally protected. Arjun's case
involves the unauthorised use of a concept
for a mobile application, which is
considered an idea. Since ideas are not
explicitly safeguarded under intellectual
property laws, Arjun may not succeed in
claiming infringement based on the given
information.

Options A, C and B are incorrect for the
following reasons:

A. The passage does not emphasise the
protection of original ideas but rather the
expression of those ideas in tangible form.

C. This option is incorrect as the passage
suggests that ideas are not protected.

B. This is incorrect as the question does not
talk about application of the safeguards.

Q69.B

The passage mentions that section 52 of the
Copyright Act, 1957, provides instances
that do not constitute copyright
infringement, including fair dealing for
private use or research and reproducing any
work for the purpose of a judicial

-4 | MATERIAL BHAIYA

ollowing reasons:
A. Placing trust in a misled spiritual guide
does not absolve Vikram of accountability
for his own actions, as he still made a
decision during the art exhibition.

provided.
Options A, C, and D are incorrect for the
following reasons:
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A. While authors hold exclusive rights, the
passage indicates exceptions under section
52 for legal proceedings, impacting Aditi's
likelihood of success.

C. R's use for legal arguments may be
considered fair dealing under section 52,
reducing the likelihood of Aditi's success.
D. The passage does not explicitly state that
the subject matter lacks copyright
protection; instead, it introduces exceptions
under section 52 for specific uses.

Q70.B

The passage mentions that copyright
protection extends throughout the lifetime
of the author and 60 years after their death
under the Copyright Act of 1957. Aman
passed away in 1990, and the legal action is
taking place in 2025, which is within the
60-year period. Therefore, there is a chance
that the legal action may succeed based on
the provided information.

Options A, C, and D are incorrect for the
following reasons:

A. The passage does not suggest that logos
are typically excluded from copyright
protection; instead, it provides a timeframe
for protection.

C. The passage does not emphasise the
impact of the logo being copied after
Aman's demise; it focuses on the duration
of copyright protection.

D. The passage highlights the possibility of
success based on the infringement
occurring within the protected period under
the copyright act, which is not mentioned in
the passage.

Q71.B

Options A, C, and D are incorrect for the
following reasons:

A. The passage doesn't state that the
documentary is unreleased; it indicates that
Alex released the modified documentary.
C. The passage establishes that Zara's work
is copyrighted, and the infringement is
based on modifications, not the category of
the work.

D. The focus on copyright infringement is
on the alterations made by Alex, not just the
act of copying and releasing the
documentary.

Q72.C

The passage does not provide information
about the duration of copyright protection
under the Copyright Act of 2030. It
mentions the Copyright Act of 1957 and its
provisions but does not provide details
about the Copyright Act of 2030 or the
specific duration of protection.

Options A, B, and D are supported by
information in the passage:

A. The passage mentions actions that mimic
the exclusive rights of a copyright owner,
such as sharing a work without permission,
as potential copyright violations.

B. The passage discusses copyright
protection for original works, the
commencement of protection when a work
is created, and the exclusion of basic ideas
from legal protection.

D. while not inferable from the passage
option C is directly contradicting the
passage making it correct.

Q73.B
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ara's copyright.
The Copyright Act of 1957 protects original
works, and unauthorised modifications or
use without permission would infringe
upon the creator's rights.
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The passage doesn't mention any urgency
or emergency in Lisa's situation that could
justify resorting to violence or obstructing
an ambulance. Lisa's actions, including
incessant honking, verbal berating, and
physically pushing the ambulance driver,
are described as inappropriate and
aggressive. The consequences discussed in
the passage involve legal penalties for acts
of violence against healthcare workers. In
this context, Lisa's behavior towards the
ambulance driver, James, is deemed
unacceptable and could lead to legal
consequences. Other options are not
supported by the information provided in
the passage.

Q74.D

The passage clearly states that Emily,
frustrated and in pain due to her urgent
medical condition and the hospital's
inability to admit more patients, threw
objects at both the attending nurse and
doctor. Emily's violent act is a direct
response to her frustration, and the passage
does not indicate any  mitigating
circumstances that would absolve her of
responsibility. Other options are not
supported by the information provided.
Emily's intention or the urgency of her
medical condition is not presented as an
excuse for resorting to violence against
hospital staff.

Q75. A

The passage explicitly mentions that Greg,
frustrated by the refusal of entry, resorted to
swinging his weapon at the security guard,
damaging the lock, and gaining

B: This option is not directly supported by
the information in the passage. While it is
true that therapy animals escaped, the
passage does not explicitly state that Greg's
actions directly led to their escape. The
primary focus is on Greg's violence against
the security guard.

C: The passage does not provide
information about whether the security
guard suffered injuries or not. Greg's
liability is linked to his violent actions,
regardless of the specific injuries suffered
by the security guard.

D: The passage does not mention whether
security guards are covered or not under the
mentioned  act.  Therefore, making
assumptions about legal coverage is not
supported by the provided information. The
focus is on Greg's violent behaviour and its
consequences.

Q76.B

Option B is correct as per the information
provided in the passage.

Other options are wrong as:

Option A: This option is incorrect because
the passage does not explicitly mention that
no harm was inflicted on hospital staff. It
focuses on the chaos caused by the gang
members.

Option C: This option is incorrect as there
is no information in the passage indicating
the involvement of the CBI or specifying
that the case falls within their jurisdiction.
Option D: This option is incorrect as the
passage does provide information about the
investigation, stating that an inquiry was
initiated after the gang members were
apprehended.
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Option C is correct because it aligns with
the legal concept of ratification in agency
relationships. The scenario illustrates
Nathan, acting as Rachel's agent,
independently entering into a contract.
Rachel's  subsequent approval, after
reviewing the terms, constitutes
ratification. According to agency law, a
principal can retroactively validate actions
taken by their agent, rendering them legally
binding. This principle precisely reflects
the situation described.

Option A is incorrect as it misconstrues the
agency relationship. Nathan had authority
to act on Rachel's behalf, allowing for the
contract's validity through ratification.
Option B is flawed because Nathan, as an
authorised agent, had the necessary
authority to sign the contract.

Option D is inaccurate as it
mischaracterizes Nathan's role; he operates
as an agent, not an independent contractor,
in the described context.

Q78. A

Option A is correct as it accurately reflects
the legality of the arrangement. Tech
Solutions  explicitly granted Contract
Genius the authority to independently
negotiate and finalise the acquisition
contract on its behalf. The passage indicates
a clear principal-agent relationship, where
Tech Solutions is the principal and Cogni
Contracts, through its Al system Contract
Genius, acts as the agent.

Option B is incorrect because the passage
establishes a principal-agent relationship
between Tech Solutions and Cogni
Contracts, not that of a contractor.

Option C is correct. Emily has not exceeded
her authority because her actions fall within
the concept of implied authority based on
necessity. In the passage, it is stated that
Mark verbally empowered Emily to make
time-sensitive decisions, sign contracts, and
negotiate on behalf of the firm. The term
"implied authority" implies that Emily, in a
time-sensitive situation, had the authority to
take necessary actions even if they were not
explicitly mentioned in the instructions.
Option A is incorrect because it
oversimplifies Emily's authority and
doesn't consider the concept of implied
authority based on necessity.

Option B is incorrect as the passage doesn't
explicitly state that Emily engaged in an
unlawful activity, and the question of
legality is not addressed.

Option D is incorrect because it focuses on
the specific budget, while the passage
mentions a "general budget" provided by
Mark.

Q80. C

Option C is correct. Gourmet Ventures can
ratify David's signing and negotiation,
thereby validating the contract. The passage
doesn't specify that the lack of authority
voids the entire contract, and ratification by
Gourmet Ventures can cure the issue.
Ratification involves  accepting or
confirming an act after it has been
performed without prior authorization.
Option A is incorrect because executing a
new contract with explicit authorization
might not address the validity of the
financial terms negotiated by David in the
original contract.

MATERIAL BHAIYA

passage establishes an agency relationship.

Q79.C

making erms subjec
validation through ratification.

QS1. A
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Option A is correct. Plea Bargaining is
relevant here since the prescribed
punishment for Sarah's offence is less than
7 years. According to the information in the
passage, plea bargaining is available for
offences punishable by up to seven years of
imprisonment.

Option B is incorrect because plea
bargaining's applicability is determined by
the potential punishment, not the severity of
the offence.

Option C is inaccurate as the passage does
not mention the nature of the offence but
focuses on the potential punishment for
determining plea bargaining eligibility.
Option D is wrong because the passage
does not specify that the plea-bargaining
application must be submitted after the
trial; it primarily involves pretrial
negotiations.

Q82.D

Option D is correct. The situation described
is an example of Fact bargaining, as there
was a selective representation of facts
during the plea-bargaining process. Fact
bargaining involves an agreement between
the defendant and the prosecution regarding
specific facts or evidence presented or
omitted at the trial.

Option A is incorrect as Sentence
bargaining typically involves a defendant
pleading guilty to the original charges in
anticipation of receiving a lesser sentence,
not a selective presentation of facts.

Option B is inaccurate because Fact
bargaining doesn't necessarily involve
dropping charges; it focuses on the
agreement about specific facts presented

Option D is correct. The application will
fail since plea bargaining is not applicable
in cases of breach of contract. Plea
bargaining, as mentioned in the passage, is
relevant only for criminal offences and not
civil matters like breach of contract.
Option A is incorrect because the breach of
a contract, while impactful for the parties
involved, doesn't have widespread
implications for the country's socio-
economic condition.

Option B is inaccurate since the success of
plea bargaining is not determined by the
intention behind the breach; it is generally
applicable to criminal cases with the
possibility of imprisonment.

Option C is also incorrect because the
passage doesn't specify the nature of the
penalty imposed on Green Scape, and the
applicability of plea Dbargaining is
determined by the nature of the offence, not
the type of penalty.

Q84. A

Option A is correct. Yes, as anyone
dissatisfied with the district court's decision
has the right to approach the Appellate
court. The passage does not explicitly
mention any restriction on the right to
appeal after plea bargaining, allowing
individuals to seek recourse if dissatisfied
with the court's decision.

Option B is incorrect because an appeal is
not equivalent to a writ petition. An appeal
is a distinct legal process allowing a higher
court to review the decision of a lower
court.

Option C is inaccurate since the passage
doesn't state that the judgement after plea

clatnlti.com

©National Law Training Institute



NLTI CLAT Mock 15
Answer Key and Explanations

Critical Reasoning

85. Correct Answer: (D) The probity and
ethical concerns raised by the allegations
against WFI president Brij Bhushan
Sharan Singh.

Explanation: The passage primarily
discusses the ethical and probity concerns
surrounding the allegations of sexual
harassment against Brij Bhushan Sharan
Singh, the WFI president and BJP Member
of Parliament. It focuses on the lack of
political censure he faces despite serious
allegations, the wrestlers’ ongoing protests,
and the broader implications for public life
and sports administration. This indicates a
focus on the moral and ethical dimensions
of the issue, particularly in the context of
public accountability and the response to
such serious allegations.

Incorrect Options:

(A) The political implications of the
protests against Brij Bhushan Sharan Singh.
Explanation: While the passage touches
upon political aspects, its main focus is not
on the political implications but on the
ethical concerns related to the allegations.

(B) The effectiveness of the Delhi Police’s
investigation into the allegations against
Mr. Singh.

i MATERIAL BIEATY A

Explanation: The passage does reference
the response of international bodies, but this
is not the main focus. The emphasis is more
on the concerns related to the allegations
against Mr. Singh and the wrestlers’
protests.

86. Correct Answer: (B) The lack of
censure undermines the integrity and

credibility of the sports administration in
India.

Explanation: The passage expresses
concern over the lack of political censure
for Brij Bhushan Sharan Singh, despite
serious allegations against him, including
under POCSO. This lack of censure is
viewed as disturbing because it undermines
probity in public life and sports
administration. The author suggests that
when a Member of Parliament and a leader
of a sports federation is not held
accountable or censured for such serious
allegations, it calls into question the
integrity and credibility of the institutions
he represents.

Incorrect Options:

(A) It indicates a potential bias within the
ruling party towards its members.

Explanation: While bias might be inferred,
the passage focuses more on the broader
implications for integrity and credibility

(C) The response of international sporting
bodies to the treatment of protesting
wrestlers.

Explanatlon Although the passage does
hint at a broader issue of apathy, the main
concern is about the specific implications
for sports administration and public life due
to the lack of censure.
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(D) This situation suggests a systemic issue
within the Wrestling Federation of India.
Explanation: While systemic issues in the
Wrestling Federation of India might be a
concern, the passage focuses on the lack of
political censure and its impact on the
credibility of sports administration and
public life in a broader sense.

87. Correct Answer: (B) The deletion of
social media posts by the police raises
questions about the fairness of their
investigation.

Explanation: The passage suggests that the
fairness of the Delhi Police’s investigation
into the cases against Mr. Singh is called
into question, particularly due to their
action of deleting social media posts that
made benign claims about the investigation.
This action raises concerns about the
objectivity and impartiality of the police
force in handling the case. The inference is
that such actions by the police undermine
public confidence in the fairness and
integrity of the investigation.

Incorrect Options:

(A) The Delhi Police’s investigation is
widely regarded as thorough and unbiased.
Explanation: The passage does not suggest
that the investigation is seen as thorough
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(D) Public confidence in the Delhi Police’s
investigation has been strengthened by their
transparent approach.

Explanation: The deletion of social media
posts by the police, as mentioned in the
passage, suggests a lack of transparency,
which would likely not strengthen public
confidence in the investigation.

88. Correct Answer: (B) It highlights the
emotional intensity and seriousness of
the wrestlers’ demands for justice.

Explanation: The passage describes the
wrestlers’ protest, including their gathering
in Haridwar to immerse their medals in the
Ganga, as taking an emotional turn. This
act, although not carried out at the last
moment, is portrayed as a significant
indicator of the emotional intensity and
seriousness with which the wrestlers are
pursuing their demands for justice. The
passage implies that such a dramatic
gesture underscores the depth of their
commitment and the gravity of the
situation, thereby raising concerns about
the urgency and legitimacy of their
demands.

Incorrect Options:

(A) The protest is seen as an ineffective way
to bring about change in sports

case.
Explanation: The passage does not portray
the police’s actions as indicative of a swift
move towards justice; rather, it questions
the impartiality of their investigation.

actions.

(C) The protest is criticized for its potential
to negatively impact India’s international
sports reputation.
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Explanation: While there might be
implications for India’s sports reputation,
the passage primarily highlights the
emotional aspect of the protest, not its
potential impact on international reputation.

(D) The immersion of medals is viewed as
a symbolic act with no real impact on the
investigation.

Explanation: The passage does not suggest
that the act of immersing medals is merely
symbolic with no impact. Instead, it
emphasizes the emotional significance of
the act in the context of the wrestlers’
demands for justice.

89. Correct Answer: (C) Instances where
sports administrators with similar
allegations were quickly removed from
their positions.

Explanation: The passage argues for higher
standards of probity, especially in public
life and sports administration, in cases like
that of Brij Bhushan Sharan Singh.
Instances where sports administrators faced
similar allegations and were swiftly
removed from their positions would
reinforce the argument that such actions are
necessary to maintain integrity and
credibility.  This
demonstrate a precedent for holding

evidence would

individuals in positions of power

accountable, thereby supporting the

Explanation: While this might support the
need for high standards, it does not directly
relate to sports administration or the
specific context of the passage.

(B) Evidence that allegations of misconduct
against political figures often lead to
immediate legal action without thorough
investigation.

Explanation: Immediate legal action
without investigation could actually
undermine the principle of due process,
which is also an important aspect of
probity.

(D) Statistics indicating a high rate of false
allegations against public figures in similar
situations.

Explanation: This would weaken the
argument, suggesting that allegations like
those against Mr. Singh might not always
warrant immediate action due to the
possibility of being unfounded.

90. Correct Answer: (C) Instances where
sports administrators with similar
allegations were quickly removed from
their positions.

Explanation: The passage discusses the
need for higher standards of probity,
particularly in the context of serious
allegations against a sports administrator
like Brij Bhushan Sharan Singh. Instances
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(A) Historical data showing that political
figures in similar cases have been promptly
investigated and censured.

cases, highlighting the importance of
maintaining ethical standards and the
integrity of sports administration.

Incorrect Options

clatnlti.com

©National Law Training Institute



NLTI CLAT Mock 15
Answer Key and Explanations

(A) Historical data showing that political
figures in similar cases have been promptly
investigated and censured.

Explanation: While this would indicate a
general standard of accountability, the
passage specifically focuses on sports
administration, making (C) more directly
relevant.

(B) Evidence that allegations of misconduct
against political figures often lead to
immediate legal action without thorough
investigation.

Explanation: Immediate legal action
without thorough investigation does not
necessarily equate to higher standards of
probity; the focus is on the appropriateness
and fairness of the response.

(D) Statistics indicating a high rate of false
allegations against public figures in similar
situations.

Explanation: This option would not
strengthen the argument for higher probity
standards; instead, it might suggest the need
for more cautious approaches in handling
such allegations.

91. Correct Answer: (A) The consistent
growth in manufacturing and fuel sales.

Explanation: The passage suggests that one
of the key factors contributing to the

manufacturers had their best month since
October 2020, and fuel sales rebounded
after two patchy months, indicating a

positive trend in economic activities that
could boost GST revenues.

Incorrect Options:

(B) The record compliance levels achieved
due to the financial year-end.

Explanation: While the passage mentions
that April’s record revenues were
influenced by  financial  year-end
compliances, it does not attribute the
sustained high levels of GST revenues to

this factor alone.

(C) The introduction of new compliance
measures, such as e-invoicing.

Explanation: Although new compliance
measures are mentioned, the passage does
not specifically state that these are the
primary factor for the sustained high GST

revenues.

(D) The impact of cooling retail inflation
and deflation in wholesale prices.
Explanation: The passage notes that GST
revenues have held up despite cooling retail
inflation and deflation in wholesale prices,
but it does not present this as a contributing
factor to the high levels of GST revenues.

92. Correct Answer: (C) These measures
could potentially increase GST revenues
by prioritizing cases with higher revenue
implications and closing tax trail
loopholes.

Explanation: The passage indicates that the
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are expected to increase the efficiency and
effectiveness of tax collection by
prioritizing cases with higher revenue

implications and minimizing possible
loopholes in the tax trail. Such measures
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could lead to better compliance and higher
revenue collections for the government.

Incorrect Options:

(A) They are expected to significantly
reduce GST revenue collections due to
increased compliance costs for businesses.
Explanation: The passage does not suggest
that these measures will reduce GST
revenues; instead, it implies a positive
impact on revenue collection.

(B) The new measures may lead to a
decrease in GST revenues due to potential
technical glitches and implementation
challenges.

Explanation: The passage does not discuss
the potential for technical glitches or
implementation challenges leading to
decreased GST revenues.

(D) The impact of these measures on GST
revenue collections is likely to be
negligible, as most businesses are already
compliant.

Explanation: The passage suggests that
these measures are aimed at improving
compliance and closing  loopholes,
implying that their impact on GST revenue
collections could be significant rather than
negligible.

93. Correct Answer: (C) Recent

Purchasing Managers’ Index (PMI). These
indicators of economic acceleration are
aligned with the positive trends in GST
revenues, suggesting that increased
economic activities are contributing to
robust GST collections.

Incorrect Options:

(A) Recent economic data indicates a direct
correlation with declining GST revenue
trends.

Explanation: The passage does not indicate
that recent economic data is correlated with
declining GST revenue trends; instead, it
suggests a positive correlation with robust
GST collections.

(B) There is no clear relationship between
recent economic activity data and GST
revenue trends.

Explanation: The passage does establish a
relationship between recent economic
activity data and GST revenue trends,
indicating a positive correlation.

(D) The economic activity data contradicts
the trends in GST revenues, indicating other
factors influencing revenue collection.
Explanation: The passage does not suggest
a contradiction between economic activity
data and GST revenue trends; it aligns them
positively.

positive  correlation  between  recent
economic activity data and GST revenue
trends. It mentions that manufacturers had
their best month since October 2020 and
fuel sales rebounded, as per the S&P Global

Explanation: The passage raises concerns
about the government’s slow response to
resolving policy-level anomalies in the
GST system. Despite the apparent stability
and robustness in GST revenue collections,
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the passage suggests that there are still
significant issues within the tax system that
need to be addressed. These include setting
up tribunals, clarifying levies on gaming
and casinos, and fixing an unwieldy rate
structure. The concern is that even with a
stable revenue stream, the government has
not been proactive enough in addressing
these critical policy areas.

Incorrect Options:

(A) The government has been too quick to
make changes without considering the
long-term impacts.

Explanation: The passage does not criticize
the government for being too quick to make
changes; rather, it suggests a need for more
prompt action on existing anomalies.

(B) There is a lack of adequate
technological infrastructure to support the
changes in the GST system.

Explanation: The passage does not mention
concerns about technological infrastructure
related to the GST system.

(D) The primary concern is the
overcomplication of the GST system,
making it inaccessible to small businesses.
Explanation: While the passage does
suggest that the GST system has
complexities, it does not specifically frame
this as the main concern or focus on its

current stability in GST revenues to address
existing issues within the tax system. The
author argues for the need to expedite the
resolution of policy-level anomalies, such
as setting up tribunals, clarifying levies on
gaming and casinos, and reforming the rate
structure. The stable revenue base provides
a window of opportunity for the
government to focus on these critical areas
and improve the overall effectiveness and
fairness of the GST system.

Incorrect Options:

(A) By significantly lowering the GST rates
to stimulate further economic growth.
Explanation: The passage does not suggest
lowering GST rates as a strategy for using
the stable revenue; instead, it focuses on
resolving policy-level issues.

(B) By using the stable revenue to fund
large-scale infrastructure projects.
Explanation: While using revenue for
infrastructure projects could be a strategy,
the passage specifically discusses resolving
anomalies within the GST system itself.

(D) By introducing more stringent
compliance measures to further increase
revenue.

Explanation: The passage does not suggest
that more stringent compliance measures
are needed to increase revenue; rather, it
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the resolution of policy-level anomalies in
the GST system.

Explanation: The passage suggests that the
government should take advantage of the

faced by businesses due to unresolved
policy anomalies in the GST system.

Explanation: The author’s argument is
centered around the need to address policy-
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level anomalies in the GST system. Reports
or evidence that businesses are facing
increasing challenges and complexities due
to these unresolved anomalies would
strongly support this argument. Such
reports would demonstrate the real-world
impacts of not addressing the anomalies,
highlighting the necessity for the
government to take action to improve the
GST system’s efficiency and fairness.

Incorrect Options:

(A) Statistical evidence showing a
consistent increase in GST revenue
collections over the past year.

Explanation: While an increase in revenue
is positive, it does not directly address the
issue of policy-level anomalies within the
GST system.

(B) Data indicating a high level of taxpayer
satisfaction with the current GST system.
Explanation: Taxpayer satisfaction, while
important, does not directly strengthen the
argument about the need to address specific
policy anomalies.

(D) Survey results showing that the
majority of the public is unaware of the
existing anomalies in the GST system.

Explanation: Public awareness of the
anomalies does not directly relate to the
necessity of addressing them. The focus of

] i MATERIAL BHAIYTA

Explanation: The passage highlights a
concerning pattern in the government’s
response to data breaches on digital
platforms like CoWIN, characterized by
denial and a lack of transparency. It
mentions specific instances, such as the
CoWIN data breach, where the
government’s response mvolved
dismissing reports as “mischievous” or
attributing them to previously stolen data,
rather than acknowledging and
transparently addressing the issue. This
pattern suggests a reluctance to openly deal
with data security incidents, raising
questions about  the government’s
commitment to data privacy and the

trustworthiness of its digital initiatives.

Incorrect Options:

(A) The government has been commended
for its swift and transparent handling of the
data breaches.

Explanation: The passage criticizes, rather
than commends, the government’s handling
of data breaches, noting a lack of
transparency and denial.

(C) The government’s response has been
overly cautious, leading to delays in
addressing the breaches.

Explanation: The passage does not describe
the government’s response as overly
cautious; instead, it points out a tendency to

pattern of denial and lack of
transparency in the government’s
response to data breaches.

Explanation: The passage does not suggest
that the government considers data
breaches insignificant due to platform
robustness. Instead, it criticizes the
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government’s attitude towards data security
incidents.

98. Correct Answer: (B) The CERT-In’s
effectiveness is questioned due to its
silence and lack of public disclosure of
technical findings.

Explanation: The passage expresses
concerns about the effectiveness of the
Computer Emergency Response Team
(CERT-In) in handling data breaches in the
public sector. It highlights that CERT-In
often maintains silence and refrains from
making its technical findings public, which
raises questions about the transparency and
thoroughness of its investigations. This lack
of public disclosure and communication
contributes to an erosion of trust in the
government’s ability to handle data security
incidents effectively.

Incorrect Options:

(A) The CERT-In is praised for its
proactive and transparent approach in
handling data breaches.

Explanation: The passage does not praise
CERT-In; instead, it criticizes its lack of

transparency and communication.

(C) The CERT-In is viewed as overly
cautious, leading to slow responses to data
breaches.

Explanation: The passage does not
comment on the limitations of CERT-In’s
role but focuses on its lack of public
disclosure and communication regarding
data breach investigations.

99. Correct Answer: (B) There are
discrepancies between the government’s
claims of technical efficiency and the
actual performance of DPI platforms.

Explanation: The passage indicates that
there are notable discrepancies between the
government’s claims of technical efficiency
and the actual track record of the Digital
Public Infrastructure (DPI) platforms.
While the government promotes these
platforms as examples of efficient digital
public infrastructure, the passage points out
that these platforms, including Aadhaar,
Aarogya Setu, and the GEM platform, have
experienced glitches and failures. This
contrast suggests that the reality of these
platforms”  performance  does  not
consistently match the government’s claims
about their technical efficiency.

Incorrect Options:

(A) The DPI framework is consistently
effective and aligns well with the
technical

government’s  claims  of
efficiency.
Explanation: The passage does not suggest
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(D) The passage suggests that the CERT-
In’s role 1s limited and does not
significantly =~ impact  data  breach

investigations.

government’s  claims  of  technical
efficiency.
Explanation: The passage suggests a direct

relationship between the DPI framework
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and the government’s claims, pointing out
the inconsistencies in their performance.

(D) The government’s claims are validated
by the flawless operation of all DPI
platforms.

Explanation: The passage does not validate
the government’s claims; instead, it points
out issues and failures in the operation of
DPI platforms.

100. Correct Answer: (B) There is a lack
of legislative mandate and accountability
mechanisms for these digital platforms.

Explanation: The passage raises significant
concerns about the governance processes of
digital platforms like Aadhaar and Aarogya
Setu. It points out that, except for Aadhaar
(which was prompted by litigation), many
of these platforms lack a legal definition of
their functions, roles, and responsibilities
derived from an Act of Parliament. This
indicates a deficiency in their legislative
mandates.  Additionally, the passage
mentions that many of these platforms are
developed as joint ventures or special
purpose vehicles, which allows them to
evade standard accountability mechanisms,
such as audits by the Comptroller and
Auditor General or transparency mandates
under the Right to Information Act. This
lack of clear legislative mandate and

accountability mechanisms is the main
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these platforms, highlighting a lack of
legislative mandate and accountability.

(C) The digital platforms are over-
regulated, leading to inefficiencies in their
operation.

Explanation: The passage does not suggest
that these platforms are over-regulated;
rather, it implies that they lack sufficient
regulation and accountability.

(D) The governance processes focus too
much on data security at the expense of user
convenience.

Explanation: The passage does not
comment on an overemphasis on data
security; the concern is more about the lack
of legislative mandate and accountability in
the governance processes.

101. Correct Answer: (C) Lack of these
frameworks erodes public trust due to
insufficient safeguards against data
breaches.

Explanation: The passage suggests that the
absence of a National Cyber Security
Strategy and a comprehensive data
protection law significantly erodes public
trust in digital platforms. This erosion of
trust is attributed to the lack of adequate
safeguards against data breaches and the
absence of mandatory breach notifications
for affected wusers. Without these

efficient and have set a new standard for
digital platforms.

Explanation: The passage criticizes, rather
than praises, the governance processes of

Incorrect Options:

(A) It enhances public trust by

demonstrating the government’s
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confidence in the inherent security of these
platforms.

Explanation: The passage does not suggest
that the absence of these frameworks
enhances public trust; rather, it points to an
erosion of trust due to lack of safeguards.

(B) The absence leads to increased public
trust due to less government interference in
digital platforms.

Explanation: The passage does not
associate increased public trust with less
government interference; the concern is
about insufficient data protection and
cybersecurity measures.

(D) The impact on public trust is minimal
as other existing laws sufficiently cover
data protection and cybersecurity.
Explanation: The passage argues that the
absence of specific frameworks for
cybersecurity and data protection erodes
trust, implying that existing laws are not
sufficient to cover these areas adequately.

102. Correct Answer: (C) Instances
where lack of transparency and
accountability in digital platform
governance led to misuse of data and
public grievances.

Explanation: The author’s argument centers
on the need for greater transparency and
accountability in the governance of digital

and accountability to protect users’ data and
maintain public trust in these platforms.

Incorrect Options:

(A) A report demonstrating high levels of
user satisfaction with digital platforms like
Aadhaar and Aarogya Setu.

Explanation: While user satisfaction is
important, it does not directly address the
author’s argument about the need for
transparency and  accountability in

governance.

(B) Evidence showing that digital platforms
have significantly  improved service
delivery and efficiency in public services.

Explanation: Improved service delivery and
efficiency, while positive, do not
necessarily strengthen the argument about
the need for better governance practices in
terms of transparency and accountability.

(D) Statistical data indicating a decrease in
data breaches and security incidents in
digital platforms over recent years.
Explanation: A decrease in data breaches
and security incidents, while beneficial,
does not directly support the argument for
increased transparency and accountability;
the concern is more about governance
practices than the frequency of security
incidents.

§ i it o [ et i 2§

would  demonstrate  the real-world
consequences of inadequate governance,
underscoring the necessity of implementing

more robust mechanisms for transparency

discusses the May 14 parliamentary
election in Thailand, focusing on the stark
choice offered to voters, the emergence of
the progressive Move Forward Party as the
single largest bloc, the performance of other
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political ~ parties, and the potential
challenges in forming a new government. It
provides an overview of the political
landscape in Thailand following the
election and the implications of the
electoral results for the country’s future
governance.

Incorrect Options:

(B) The economic policies of the Thai
government under Prime Minister Prayut
Chan-o-cha.

Explanation: While the passage mentions
the public’s dissatisfaction with the
economic opportunities under Prime
Minister Prayut Chan-o-cha, it does not
focus primarily on the economic policies of
his government.

(C) The impact of the Thai elections on
international relations and global politics.
Explanation: The passage does not
primarily focus on the international
implications of the Thai elections, but
rather on the internal political dynamics and
election results.

(D) The technical aspects and efficacy of
Thailand’s electoral system.

Explanation: The passage does not delve
into the technical aspects or the efficacy of
Thailand’s electoral system; it is more
concerned with the political outcomes and

preference  for  pro-democratic  and
reformist opposition. This victory is set
against the backdrop of a choice between
the royalist, military-backed government
and the pro-democratic opposition. The
Move Forward Party, along with the Pheu
Thai Party, forming the largest blocs in the
election, indicates a shift in public
sentiment towards parties that promised to
stand up to the military and address the
country’s economic issues. This shift is
seen as a notable development in Thai
politics,  especially  considering the
military’s power since the 2014 coup.

Incorrect Options:

(A) It represents a shift towards more
authoritarian governance in Thailand.

Explanation: The passage suggests the
opposite; the victory of the Move Forward
Party is seen as a move towards pro-
democratic governance, not

authoritarianism.

(B) The victory is seen as a continuation of
the military-backed government’s policies.
Explanation: The passage indicates that the
victory of the Move Forward Party is a
rejection of  the military-backed
government’s policies, not a continuation.

(D) The victory indicates the public’s
satisfaction with the economic policies of

-d | MATERIAL BHAIYA

royalist, military-backed government.

Explanation: The passage emphasizes the
significance of the Move Forward Party’s
victory as it represents a clear public

105. Correct Answer: (B) The Senate’s
vote against the coalition could prevent
the Move Forward Party from forming
the government.
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Explanation: The passage outlines a
significant political challenge for the Move
Forward Party in forming the next
government. Despite winning a majority in
the 500-member elected House, the party
faces a hurdle in the 750-member bicameral
Parliament, where 250 members of the
Senate are appointed by the military. The
passage suggests that if the Senate,
influenced by the military, votes as a bloc
against the Opposition coalition, it could
prevent the Move Forward Party, led by
Pita Limjaroenrat, from forming the
government. This potential outcome is
crucial as it highlights the complex
dynamics of Thai politics and the power the
Senate holds in determining the
government’s formation.

Incorrect Options:

(A) It would ensure a smoother transition of
power to the newly elected government.
Explanation: The passage does not suggest
that a Senate vote against the coalition
would smooth the transition of power;
rather, it would create an obstacle for the
newly elected majority.

(C) Such a vote would lead to an immediate

re-election in Thailand.
Explanation: The passage does not mention
that a Senate vote against the coalition
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Explanation: While the passage highlights
the challenges posed by the Senate’s
potential vote against the coalition, it does
not specifically state that this would lead to

the military-backed government regaining
power without opposition.

106. Correct Answer: (C) The military
could attempt to undermine the Move
Forward Party’s efforts to form a
government.

Explanation: The passage expresses
concern that the military might interfere
with or attempt to undermine the Move
Forward Party’s efforts to form a new
government following its electoral victory.
This concern is rooted in the historical
context of the military’s political influence
in Thailand, especially since the 2014 coup.
The passage notes that the military’s
apprehension about the Move Forward
Party’s criticism of the military and its
promise to amend the royal defamation law
might influence their actions. Additionally,
the potential for the Senate, appointed by
the military, to vote against the Opposition
coalition, further highlights the concern
about the military’s possible efforts to
obstruct the formation of a government led
by the Move Forward Party.

Incorrect Options:

(A) The military might fully support the
Move Forward Party’s efforts to form a
government.

Explanation: The passage does not suggest

(B) The military may intervene to ensure
the continuation of pro-democratic reforms
in Thailand.

Explanation: The passage implies the
opposite, suggesting a potential reluctance
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from the military to support pro-democratic
changes.

(D) The passage suggests that the military
will remain neutral in the post-election
political process.

Explanation: The passage raises concerns
about the military’s potential interference,
rather than suggesting their neutrality in the
political process following the elections.

107. Correct Answer: (B) The history
serves as a warning of potential
challenges and political opposition the
Move Forward Party might face.

Explanation: The passage refers to the
history of the Future Forward Party, the
predecessor of the Move Forward Party,
which emerged as the third largest party in
the 2019 election but was subsequently
dissolved, and its leaders were banned from
politics. This historical context serves as a
cautionary tale, highlighting the potential
challenges and opposition the Move
Forward Party might encounter in the
current political scenario. It suggests that
despite electoral success, the party could
face significant hurdles, possibly including
legal and political maneuvers aimed at
undermining its ability to form a
government.

Incorrect Options:

(C) It suggests that the Move Forward Party
will face no legal or political challenges in
forming the government.

Explanation: The passage implies the
opposite, indicating the possibility of legal
and political challenges for the Move
Forward Party.

(D) The dissolution of the Future Forward
Party implies a stronger support base for the
Move Forward Party.

Explanation: The passage does not suggest
that the dissolution of the Future Forward
Party directly leads to a stronger support
base for the Move Forward Party; it focuses
on the potential challenges and political
opposition.

108. Correct Answer: (D) Evidence that
denying the election winners the chance
to form a government could lead to social
unrest and deepen societal divisions.

Explanation: The author’s argument
emphasizes the potential risks of not
allowing the election winners, specifically
the Move Forward Party, to form the next
government. Evidence showing that such a
denial could lead to social unrest and
further deepen societal divisions in
Thailand would strongly support this
argument. It would highlight the critical
importance of respecting the electoral
mandate for the stability and unity of the
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a smooth transition; rather, it suggests
potential challenges based on past
experiences.

Incorrect Options:

(A) Historical evidence showing smooth
transitions of power in Thailand following
past elections.

clatnlti.com

©National Law Training Institute



NLTI CLAT Mock 15
Answer Key and Explanations

Explanation: While historical evidence of
smooth transitions is positive, it does not
directly address the potential consequences
of not allowing the current election winners
to form a government.

(B) Data indicating widespread public
discontent with the current military-backed
government.

Explanation: Public discontent with the
current  government reinforces  the
significance of the election results but does
not directly support the argument about the
risks of denying the winners the chance to

govern.

(C) Reports of increasing international
pressure on Thailand to uphold democratic
norms.

Explanation: International pressure on
democratic norms is relevant but does not
directly strengthen the argument about the
internal consequences of denying the
election winners the opportunity to form a
government.

Quantitative Techniques

Common Explanation for Questions 109-114

Boys |Girls Total

From the table,

109. (d)125

110.(d)150

111. (c) 14%
70/500 * 100 = 14%

112. (d)10:7
150:105=10:7
113. (b)120

114. (a)76%
380/500 * 100=76%

Common Explanation for Questions 115
to 120:

Town A

Population of town A= 12000Population of
town B = 15000Population of town C =
13500

The difference between the total male and
female population in town A is 2000. Then,
Total male population in town A = total
female population in town A + 2000

Total male population in town A= 12000 -
total female population in town A Then,
total female population in town A= 5000

And, total male population of town A =
2000 + 5000 = 7000

dairrerence

between the total male and female
population in town A)

Total male population in town B = 15000 -
total female population in town B Then,
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total female population in town B = 5500

And, total male population in town B =
5500 +4000 = 9500

Town C
Total male population in town C = 13500 x
5/9 =7500

And, total female population in town C =
13500 -7500 = 6000

Literate and Illiterate population
Calculation for Town A, B and CNow,
literate female population in town A =75%
of 5000 = 3750 Illiterate female population
in town A= 5000- 3750= 1250
Literate female population of town B =
3750 - 250 = 3500 Illiterate female
population in town B = 5500 - 3500 = 2000
[lliterate population of town B = 46% of
15000 = 6900 Illiterate male population in
town B = 6900 - 2000 = 4900 Literate male
population in town B = 9500 - 4900 = 4600
Literate male population in town A = 4660
Illiterate male population in town A = 7000
- 4660 = 2340Literate female population in
town C =4250
[literate female population in town C=
6000 - 4250 = 1750 Illiterate male
population in town C =4250 - 2500 = 1750
Literate male population in town C = 7500
- 1750 =5750

115. (a)l:1

Total literate male population in all three
towns taken together =4660 + 4600 +
5750=15010 Total literate  female
population in all three towns taken together
=3750 +3500 +4250=11500 Difference =

15010- 11500= 3510

117.(b)90 %

Total number of males in town B = 9500
Total number of females in town A = 5000

Difference = 9500 - 5000 = 4500

Percentage = (4500/5000) x 100 = 90%

118.(d)26 %

Total population of town C= 13500

Total illiterate population of town C = 1750
+ 1750 = 3500Percentage = (3500/13500) x
100 = 26% (approx.)

119. (c)8100
Literate males in town B=4600 Literate
females in town B=3500

Total no. of literates in  town
B=4600+33500=8100

120.(d)100
Ratio of male to female population in town
A in 2018 =7000: 5000 =7:5In 2017:

Population of town A= 80% of 12000 =
9600

Ratio of male to female population in town
A in 2017 = 5:7Total female population in
town A = 9600 x 7/12 = 5600 Female
population of town B in 2018 = 5500
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